	VACUSILL HV 
	VACUSILL LV
	VACUSILL HV 
	VACUSILL LV

	Ref.  4330601
	Ref. 4330602
	Ref. 4330000
	Ref. 4330200 

	[image: image7.png]| Accesorios y recambios / Accessories and spare parts / Accéssoires ct pitces de rechange

Conexion vacio / Vacuum probe | Embout de vide 1/4"M, NF 90-116  (Irench standard) * 4390004}

Conexién vacio / Vacuum probe | Embout de vide 1/4"M, Diss L]

Conexin vacio / Vacuum probe / Embout de vide 1/4™M, BS 5682 (British standard) e [REITY

Conexion vacio / Vacuum probe | Embout de vide 1/4™M, DIN 13260 (German standard)

Conexién vacio / Vacuum probe | Embout de vide 1/4"M, §S 1752430 (Swedish standard)

Conexién vacio manguera / Hose vacuum probe / Embout de vide tyeau, NF 90-116

4390036

Conexidn vacio manguera | Hose vacuum probe / Embout de vide tuyeau, Diss

Conexién vacio manguera | Hose vacuum probe / Embout de vide tuyeau, BS 5682

Conexién vacio manguera / Hose vacuum probe | Embout de vide tuyeau, DIN 13260

SENY K]

Conexidn vacio manguera / Hose vacuum probe [ Embout de vide tuyeau, SS 8752430

Duplicador / Duplicator / Dédoubleur vide 1/4-1/4 M -1/4 H 3905003

Sistema enganche Vacusill a rail, con grapa universal y 1,5 m, manguera alta presién
Vacusill rail system, with universal rail clamp and 1.5 m high pressure hose.
Systéme Vacusill 4 rail, avec griffe universelle ¢ 1,5 m de uycau hautc pression

Qe i

Grapa rail universal con soporte frascos / Universal rail clamp with collection jar support
Griffe & rail universelle avec support pour flacon collecteur EN 12218:1998

Soporte pared “EN” frascos | “EN” Wall support for callection jars / Support au mur “EN"
pour flacons collecteurs, EN 12218:1998

Trampa de agua con vélvula de seguridad y filtro particulas / Water trap with Il = <= [ TEEE)
security valve and particles filter / Trappe & cau avee valve de sécurité et filtre de particules

Pack de 25 filiros atrapa particulas / Set 25 particles filler / Set 25 fltres aurappe particales [l

Tubo aspiracién PVC 8 x 13 mm (1 metro) / Suction twbe PVC 8 x 13 mm (1 meter) |
Tube d'aspiration PVC 8 x 13 mm (1 méte) A

Fillro bact

HERSILL, S

Cauimos Medicos — Medical Devcas
Pusty o Navecatada, 3 Polgono fdusrial |35 Niewes AENOR

28035 Mistoles, Madei, SPAIN Q
Tel: <34 91616 41 11 » Fax <34 91 616 48 92 c E E ‘Ix:Net’ e

Emall. vemas@nersil com _—

|

expori@ihers com e
wmwhersil.com 0318 G eusD 01200 ATG0ES



[image: image8.wmf][image: image9.wmf]Puerto de Navacerrada, 3 .     P. I. Las Nieves

28935  MOSTOLES  (Madrid)   Spain.

Tel.: 34  916164111   /   Fax: 34  916164892

[image: image10.wmf][image: image11.wmf][image: image12.png]| Accesorios y recambios / Accessories and spare parts / Accéssoires ct pitces de rechange

Conexion vacio / Vacuum probe | Embout de vide 1/4"M, NF 90-116  (Irench standard) * 4390004}

Conexién vacio / Vacuum probe | Embout de vide 1/4"M, Diss L]

Conexin vacio / Vacuum probe / Embout de vide 1/4™M, BS 5682 (British standard) e [REITY

Conexion vacio / Vacuum probe | Embout de vide 1/4™M, DIN 13260 (German standard)

Conexién vacio / Vacuum probe | Embout de vide 1/4"M, §S 1752430 (Swedish standard)

Conexién vacio manguera / Hose vacuum probe / Embout de vide tyeau, NF 90-116

4390036

Conexidn vacio manguera | Hose vacuum probe / Embout de vide tuyeau, Diss

Conexién vacio manguera | Hose vacuum probe / Embout de vide tuyeau, BS 5682

Conexién vacio manguera / Hose vacuum probe | Embout de vide tuyeau, DIN 13260

SENY K]

Conexidn vacio manguera / Hose vacuum probe [ Embout de vide tuyeau, SS 8752430

Duplicador / Duplicator / Dédoubleur vide 1/4-1/4 M -1/4 H 3905003

Sistema enganche Vacusill a rail, con grapa universal y 1,5 m, manguera alta presién
Vacusill rail system, with universal rail clamp and 1.5 m high pressure hose.
Systéme Vacusill 4 rail, avec griffe universelle ¢ 1,5 m de uycau hautc pression

Qe i

Grapa rail universal con soporte frascos / Universal rail clamp with collection jar support
Griffe & rail universelle avec support pour flacon collecteur EN 12218:1998

Soporte pared “EN” frascos | “EN” Wall support for callection jars / Support au mur “EN"
pour flacons collecteurs, EN 12218:1998

Trampa de agua con vélvula de seguridad y filtro particulas / Water trap with Il = <= [ TEEE)
security valve and particles filter / Trappe & cau avee valve de sécurité et filtre de particules

Pack de 25 filiros atrapa particulas / Set 25 particles filler / Set 25 fltres aurappe particales [l

Tubo aspiracién PVC 8 x 13 mm (1 metro) / Suction twbe PVC 8 x 13 mm (1 meter) |
Tube d'aspiration PVC 8 x 13 mm (1 méte) A

Fillro bact

HERSILL, S

Cauimos Medicos — Medical Devcas
Pusty o Navecatada, 3 Polgono fdusrial |35 Niewes AENOR

28035 Mistoles, Madei, SPAIN Q
Tel: <34 91616 41 11 » Fax <34 91 616 48 92 c E E ‘Ix:Net’ e

Emall. vemas@nersil com _—

|

expori@ihers com e
wmwhersil.com 0318 G eusD 01200 ATG0ES



[image: image13.wmf]Puerto de Navacerrada, 3 .     P. I. Las Nieves

28935  MOSTOLES  (Madrid)   Spain.

Tel.: 34  916164111   /   Fax: 34  916164892

[image: image14.png]


[image: image15.wmf][image: image16.wmf] 

[image: image17.wmf] 


	

	
[image: image1.png]| Accesorios y recambios / Accessories and spare parts / Accéssoires ct pitces de rechange

Conexion vacio / Vacuum probe | Embout de vide 1/4"M, NF 90-116  (Irench standard) * 4390004}

Conexién vacio / Vacuum probe | Embout de vide 1/4"M, Diss L]

Conexin vacio / Vacuum probe / Embout de vide 1/4™M, BS 5682 (British standard) e [REITY

Conexion vacio / Vacuum probe | Embout de vide 1/4™M, DIN 13260 (German standard)

Conexién vacio / Vacuum probe | Embout de vide 1/4"M, §S 1752430 (Swedish standard)

Conexién vacio manguera / Hose vacuum probe / Embout de vide tyeau, NF 90-116

4390036

Conexidn vacio manguera | Hose vacuum probe / Embout de vide tuyeau, Diss

Conexién vacio manguera | Hose vacuum probe / Embout de vide tuyeau, BS 5682

Conexién vacio manguera / Hose vacuum probe | Embout de vide tuyeau, DIN 13260

SENY K]

Conexidn vacio manguera / Hose vacuum probe [ Embout de vide tuyeau, SS 8752430

Duplicador / Duplicator / Dédoubleur vide 1/4-1/4 M -1/4 H 3905003

Sistema enganche Vacusill a rail, con grapa universal y 1,5 m, manguera alta presién
Vacusill rail system, with universal rail clamp and 1.5 m high pressure hose.
Systéme Vacusill 4 rail, avec griffe universelle ¢ 1,5 m de uycau hautc pression

Qe i

Grapa rail universal con soporte frascos / Universal rail clamp with collection jar support
Griffe & rail universelle avec support pour flacon collecteur EN 12218:1998

Soporte pared “EN” frascos | “EN” Wall support for callection jars / Support au mur “EN"
pour flacons collecteurs, EN 12218:1998

Trampa de agua con vélvula de seguridad y filtro particulas / Water trap with Il = <= [ TEEE)
security valve and particles filter / Trappe & cau avee valve de sécurité et filtre de particules

Pack de 25 filiros atrapa particulas / Set 25 particles filler / Set 25 fltres aurappe particales [l

Tubo aspiracién PVC 8 x 13 mm (1 metro) / Suction twbe PVC 8 x 13 mm (1 meter) |
Tube d'aspiration PVC 8 x 13 mm (1 méte) A

Fillro bact

HERSILL, S

Cauimos Medicos — Medical Devcas
Pusty o Navecatada, 3 Polgono fdusrial |35 Niewes AENOR

28035 Mistoles, Madei, SPAIN Q
Tel: <34 91616 41 11 » Fax <34 91 616 48 92 c E E ‘Ix:Net’ e

Emall. vemas@nersil com _—

|

expori@ihers com e
wmwhersil.com 0318 G eusD 01200 ATG0ES




	
	

	
	[image: image2.jpg]



[image: image3.png]Vacusill®#v |

100 Pg (760 mmiig)

Regulador de vacio con rongo: 0
Flojo de oire: 0- 150 min
Mondo de reguiacion con mecanismo de regulacicn calibroda
poro alcanzar una extrooroinario estabiligad y precision
Mondo OnfOff paro apertura y ciesee dpido

Jrompa de agua con vGlvula de seguridad y o de particuls
Conexidn de entrada rosca hembra '/y™ W Gos

Normas: EN S010079-3:2000

Fuuxdair-0 - 150 Limin
Robinet o régloge central calibr pour assurer une précision
et stobilites exteaordinaires

Robinet Marche-Arrét, pour une auverture ct fermeture rapide
Trape  eou avec dispositif de sécurité et filre oe particules
Branchement dentree filetage femelie /" W Gos.
Wormes: EN 15010075-3-2000

Vacusill‘i’ﬂv PC1 DISS

Fitroporticulas y frosco PC1 DISS
Poricesfilterond PC DISScollcton jor
Fire de particules t lacon collecteur PCT DISS.

®
Vacusill®#v ec2
Frosco PC2, saporte o pared EN 12218
PC2 collection jor, N 12218 wallsupport

‘Régulateur de vioe, niveou de aépression:0 - 100 ke (760 mmttg)

Sistemas de aspiracién de alto vacio y alto flujo
Suction controllers: high vacuum & high flow
Systémes daspiration: différents niveaux de dépression

« Vocuum regulator: range 0.~ 100 kPa (760 minHg)

* Air flow:0 - 150 Lmin

« Control knob equipped with a requlation system coliorated
to ensure an extroordinary stabilty and precision.

* ON/OFFswitch for a quick 0pening and ciosing

« Waler trop with security valve and porticies flter

=

Inlet thread female '/s” W Gas
Standard: EN IS0 10079-3:2000

Vacusill*sv

Trampa de agu, v de seguridod
yitrode patcus

Wioter trap, security vl
and ortices fier

Trapge d 20w, vale g securite
exfile de paricies

53041 |

A

PTG SHIT O e

R DR o

AR S«

Vacusill*#v pea

rasco P, soporte o pored BN 17274
P4 collection o, N 12218 vl support
Hocon colecteat PC4, suppost o mus T 1718

Sin conexicn |
Vihoutprobe | eouiim ’, - —
Sans embout.
errouilioble BS 5682 NF 90-116 DIN 13260 \ §58752430
Vacusill"sv i
e - — |
Vacusill*#v rci piss 5530027 T |
e -
Vacusill“#v rc2 |
118,
Vacusill*#v pes Sastann

Disponibles otras conexiones: consultar. / Other probes available upon request. / Différents embouts verrouiliobles disponibles: consulicr.
Frascos disponibles en PSL:consultar. / Collection jors available in PSU upon reques. / Les flacons sont dispanibles en PSU: consuite





[image: image4.jpg]WATER[CG
sucTio &

DRAINAGE
un!

VACUUMS X et

DRAINAGE





1,75 л  

(PC) Ref.: 4383002

(PSU) Ref.:4383012

1л DISS

(PC) Ref.: 4383006

(PSU) Ref.: 4383005

[image: image5.jpg]i e
T T T 1

b B Lo Lt T A

T

]
T

1 1 1
R AR PR B RER

1

LB T

T

3500

o

23

19




[image: image6.jpg]



Ref. 4383500

Регулятор, водный манометр см. 0-30 cm H2O

Regulator, water manometer 0-30 cm H2O
4 L

 (PC) Ref.: 4383004

(PSU) Ref.:4383014

1,75 L DISS

 (PC) Ref.: 4383022

(PSU)  Ref.:4383032



	





ИНСТРУКЦИЯ ПОЛЬЗОВАТЕЛЯ
	Модель /Model/ 
	VACUSILL  HV
	VACUSILL  LV

	REF
	4330601
	4330602

	Прибор в комплекте:

Complete suction unit:
	Регулятор + шкала измерительная + водная ловушка + предохранительный клапан + фильтр частиц. 

Regulator + vacuometer + water trap + security valve + particle filter 

	REF 
	4330000
	4330200

	Прибор в комплекте:

Unité complète
	Регулятор + шкала измерительная + фильтр
Regulator + vacuometer + filter

	Классификация
Classification :
	Высокий вакуум / Высокий поток
High Vacuum / High Flow
	Низкий вакуум / Высокий поток
Low Vacuum / High Flow

	Вакуум / Vacuum
	0 – 100 kPa   (760 mmHg)
	0 – 20 kPa   (150 mmHg)

	Потокl/ Flow (протестировано при подаче скорости потока = 200л /мин) 
(tested at flow supply=200L/min)
	0 – 150 L/min. *
	0 – 80 L/min. *

	Размеры/ Dimensions
	180 x 88x 107 mm

	Вес/ Weight
	480 g

	Точность/ Precision 
	2.5 %

	Внутренняя резьба/ Inlet thread
	Witworth-Gas 1/4 ’’

	Стандарт/ Standard
	EN  ISO  10079-3 : 2000


ИНСТРУКЦИЯ ПОЛЬЗОВАТЕЛЯ
Важно: Перед использованием внимательно ознакомьтесь с инструкцией. Оборудование должно обслуживаться высококвалифицированным медицинским персоналом.
1. Присоедините аппарат к источнику вакуума с переключателем в позиции «OFF»-выключено.
2. Прикрепите ёмкость для сбора к фильтру или ловушке для отсасываемых масс, находящимся в нижней части прибора.
3. Установите требуемый поток вакуума при помощи ручки-регулятора. Сила потока «больше-меньше» регулируется при помощи ручки-регулятора «+/-». 
4. Включите аппарат, установив ручку регулятора в позицию «ON».
РЕКОМЕНДАЦИИ
· Не используйте жиросодержащие и любриканты для смазки оборудования.
· Не прикладывате силы для поворота ручки-регулятора.
· Соблюдайте стандартные рекомендации подачи вакуума
· Используйте только оригинальные запчасти.
· Используйте бактериальный фильтр воизбежании контаминации оборудования.
ОЧИСТКА И ДЕЗИНФЕКЦИЯ
· Используйте только продукцию пригодную для очистки латуни, поликарбоната, полисульфона.
· Не используйте абразивные и порошкообразные моющие средства.
· Регулярно меняйте фильтр частиц.
РЕМОНТ И ОБСЛУЖИВАНИЕ

Рекомендуется производить технический осмотр квалифицированным персоналом каждые 3 года. В случае возникновения неполадок в процессе эксплуатации оборудования, рекомендуется проводить осмотр и тестирование.
A. Ремкомплект (Арт. 4330001) включает части C, D, E и F (см. рисунок). Допускается замена только C, D, E и F частей, А, В и верхние части замене не подлежат.
B. Вакуумметр поставляется «навинченным» на прибор, чрезмерное усилие при навинчивании может повредить резьбу.

USER INSTRUCTIONS

Important: Before to use the equipment, read carefully these instructions. The equipment Vacusill should only operated by fully qualified medical staff.

1. Attach the equipment to the vacuum supply with the ON/OFF in OFF position.

2. Secure the collection jar to the filter which is located towards the bottom of the apparatus, or to the water trap (if it is present).

3. Select the required vacuum range by turning the regulation knob. If the required level is outranged, to reduce it will be necessary to permit the flow by the equipment (opening the ON/OFF knob).

4. Put the ON/OFF knob in ON position and start the suction.

RECOMMENDATIONS

· Do not use either grease or lubricant oil in the fittings.

· Do not force the control regulation knob.

· Observe the standard supply suggestions (vacuum level).

· Use only original spare parts.

· Insert a bacteria filter between the collection jar and the regulator to avoid the contamination of the equipment.

CLEANING AND DISINFECTION

· Use only products qualified to clean brass, polycarbonate, PSU and ABS.

· Do not use abrasive or detergent based products.

· Replace the particle filter periodically and always in presence of dirty or humidity.

REPAIRING AND MAINTENANCE

It’s recommended a maintenance check each 3 years, by qualified and/or reliable staff, even though that signs of malfunction appears, the unit must be checked.

A. Regulation system: The repairing kit (Ref. 4330001) includes the parts C, D, E and F (see the attached drawing). Although the regulator assembly is simple, it should be performed exclusively by maintenance qualified personnel. The back-bone body must be unscrewed with a proper tool to do not damage the plastic parts and afterwards it should be firmly screwed. During the substitution of the kit parts, only must be disassembled the parts C, D, E and F, being careful to do not unscrew the in-factory calibrated parts (parts A, B and uppers).

B. Vacuometer: It is supplied screwed to the regulator body, fixed due to a screw-sealant. The excessive torque or the excess of screw-sealant may damage or obstruct the regulator. The references of the spares are detailed in the attached drawing to this manual.


DECLARACIÓN CE DE CONFORMIDAD   CE DECLARATION OF CONFORMITY


HERSILL, S.L.

Puerto de Navacerrada, 3  -  P.I. Las Nieves  -  28935 Móstoles (Madrid) 

España  -  Spain

	declara bajo su única responsabilidad que los productos detallados más adelante son conformes con la Directiva 93/42/CEE de 14 de Junio de 1993, referente a productos sanitarios.

Declaración sujeta al procedimiento expuesto en el Anexo II de la Directiva 93/42/CEE.
	declare under our sole responsibility that the products listed below are in conformity with the provisions of Directive 93/42/EEC of 14 June 1993, concerning medical devices.

Declaration subject to the procedure defined in the Annex II of the European Directive 93/42/EEC.

	
	

	Tipo de producto
	Product type

	EQUIPO  MÉDICO DE ASPIRACIÓN 
	MEDICAL SUCTION EQUIPMENT

	
	

	Denominación de producto
	Product name

	VACUSILL HV  /  VACUSILL LV

	
	

	Clasificación del producto
	Product Classification

	II a

	Certificado nº
	Certificate nº

	1067/MDD

	Fecha de emisión
	Issued on

	2008-01-22

	Fecha de validez
	Validity date

	2011-07-26

	Aprobado por (firma)
	Approved by (signature)

	Oscar M. Jordán

	Cargo: Director Gerente
	Title: Managing Director


� EMBED CDraw5  ���





Ref. 4450061


Универсальное рельсовое крепление для накопительной ёмкости


Universal rail clamp with collection jar support.








Ref.: 4330006 Ручка регулятора


Regulator body





Ref.: 4330203 Ручка регулятора


Regulator body 





Ref.: 4330010


Набор фильтров


 Filter kit





Ref.: 3330102 Вакуумметр Vacuometer








Ref.: 3330101 Вакуумметр Vacuometer 











Ref.: 4330150 


Ловушка для отсасываемых масс с предохранительным клапаном и фильтром.


Water trap with security valve and particles filter 








Ref.: 4330203 Ручка регулятора 


Regulator body 





Ref.: 3330102 Вакуумметр


Vacuometer








Ref.: 4330006 Ручка регулятора 


Regulator body











� EMBED CorelDRAW.Graphic.10  ���





Ref.: 3330101 Вакуумметр


Vacuometer











Высокий вакуум


High vacuum





Bajo vacío


Низкий ваккум





Высокий вакуум


Haut vide





Низкий вакуум


Low vacuum








Переходники для настенного крепления�
�
Стандарт


SS 8752430


BS5682


NF S 90-116


DIN 13260


DISS�
Артикул


4390001


4390003


4390004


4390007


4390016�
�






Ref. 4430050


Рельсовая система с универсальным креплением, 1,5 м, трубка высокого давления


Rail system, with universal rail clamp and 1,5 m high pressure hose


 





Ref. 4330011


Упаковка 25 фильтров


25 filters pack





Ref.: 0940023  


Аспирационная трубка ПВХ 8x13 мм (1 метр)


 Suction tube PVC  8x13 mm 


(1 meter)








� EMBED CorelDRAW.Graphic.10  ���











Ref.: 4330012


Переходник на бутылку


Bottle fitting














_1232171492.unknown

_1233732452.unknown

